% o] Bre w2 fajshet A9
Vz V2 V2 V2
V6 V6 _ 1 22
5VI2  5V2V6  5v2 5v2x V2 10




2. The 7 Al0] TS Q%S () ol vk e 28

@ 4xy+ 8xz (xy) @3ab + 3ac + 12ad (3a)
® 5a’b —7ab® (a*b?) @ 3x+6x% 4+ 9x (3x?)

® 3a® +6b* (3ab)

~&B

@ 4x(y + 22)

@ 3a(b+ c+4d)
® ab(5a - Tb)

@ 3x(1 + 2x + 3x2)
® 3(a® + 2b?)




4
o

@ 7. HE

-

i
b

<

Tod

A+
K

-

o

o
r
©

S 4 4
44 4
o By o
o <p 4p

A
<k
W
oF ok

_I_I_

<+
<




V3=a, V30 = b 4 o, TS AL F £ AL LE T2

® V0.3=0.1a @ V0.03=0.1p @ 300 = 10a
@ /30000 = 10b (@) V027 = 0.3a

B

=0.1

© Vo5 = |2

/3 3
@ /30000 = V3 x 10000 = 100 V3 = 1004

V30
0




i

0|7} 16a% —24a+9 2 o, §F He] 4

@)4a -3 ® 4a+3

Jol=?

16a® — 24a+ 9 = (4a - 3)?

whabA] gt ¥ o] Zoli=

4a — 3 o]t}




6. ab-b-a+ 1< H2A AL AL9

O @b+ @ @ro)b-1) Ga-1e-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1)=(a-1)(b-1)




@ 1.3

(F4)=09+04=13




THEA2<Vx-3<3,4<V2x<59 g R
© 9 AFEL BE FoH?
®s @3 ® 32 @ 34

T upx

=] 1 s
- - ‘_—.0}":;?)]—!‘

® 36

2<vVx-3<3
4<x-3<9
T<x<12
x=28, 9, 10,11
4<V2x<5
16 < 2x < 25
8<x<125
x=9,10,11,12
T B5A4E TAlo 9tEsh= x g2 9,10, 11

29410411 =30




24 919 A P o} Q Abole] S Foa? (3,

o
g7k @ ) Pol7h1 Q) Arzgole))

[
N ol
9
o)
-

C
DL+
I,’ \ B
:::Y:: /Y::
-4-3-2Q 0 1 A3 4 P66 7

D 6 @ 8 ® +10 @2«/@ ® 310

~&B

0ABCD 9] Hol= (2 BAHE Wol)-(d2d vl 7119 Hol 9]
gh
H

O

OABCD 9] Yo]=16-4x - x1x3=10

1
2
ol VIO o

. OABCD ¢ g ¥l 2
AP=AB=AD=AQ= V10

A Pe2 B V10 THE 2 o] f-35h= Holth. P(2+ V10)
A Q2 Bo} VIO B 22 ol tf g8 Holth.Q(2- Vi)
. PQ=(2+ VI0) - (2- V10) = 210




10.

v0.24 + v0.06 + 0.04 & 7t+s] 5hA?

® 6 @ 8 3®)10 @ 12

® 14

[ 24 /100 /100
100 X 5 X 1 V100 0




A= a, b ol U5t a <00<b<10q V(=2a)2 - /(

(-7 & 093] 5192w a, b 9 A%

o

S

a<0,0<b<10]B2
a-b<0,1-b>0

2 /(=2a)?2 = \/(a-b)?+ /(1 -b)?
=|—2a|—|a—b|+ |1 -b|
=-2a+a-b+1-b

=-a-2b+1

TEhA ks g2 -1-2+ 1= -2°|th




V3 v
@ V32-2V24- V2(1+2v3) =3v2-2+6
@ (V63— V35)+ VT=2-+5

@ \/_(\/—-i-\/—) \/§<2«/§_1):5«/6

124+3V6
@ =5 =i sz

B

6 V8-2+3
®$(\/§— \/§)+T

_ 6V3(V3-2) +4—2«/€
3 2
=2V3(V3-V2)+(2- V6)=8-36
@ V32-2v24- V2(1+2v3)
=4V2-4V6- V2-2V6=3v2-6V6

- VBB
® (V63— V35) + V7 = 7
~ 70§55
22 1

(8-
VB 3

() ()

:<£+£>+(1_1):7_\/€

2 3 6
@ 12+3v6  V3(12+ 36)
V3 3
_12v3+9+V2

3 =43 +32




13.

1-V2+ V3

o] #RE okt A

Hr

e 14+ vV2- 3

@

2
@ w/'+\/'

V2~ B
2 3

SRR G WEERL
®

L9

©)

-V2+ V6
2

B

V2-V3=A g 5tH

1-(V2-V3)

1+ (V2-V3)

C1-A (1-A)?  A2-24+1
1+A  (1+4)(1-4) 1-A2

(V2= 3)2-2(V2-V3)+1

a 1-(V2-V3)?

(2-2V6+3)-2v2+2V3+1

- 1-(2-2v6+3)

_6-2v6-2v2+243

a 26 - 4

_ (6-2V6-2v2+2v3)(2V6 +4)

N (2V6-4)(2V6 +4)

_12V6+24-24-8V6-4V12-82

24 - 16

+4«/E+8\/§

24 - 16
_4V6+4V2
- 8

_V6+v2
2




14. (x+y+4)(x—y+4) - 16x S HI2A] A5t A9

D (x—y+4) @ (x+y-4)?
® (x-y-2)(x+y+8) @ (x+y-1)(x-y-1)

® (~x-y+4)(x-y+4)

~&B

x+4 =12t
(t+y)(t—y) - 16x
=1 -y - 16x
= (x+4)?-16x -y
= (x? +8x+16—16x)
= (x? - 8x + 16) -
— (- 47 -7
=(x+y- 4)(x y—4)




D

15. & AA4 x, y ol thste] yI20ay 7t 7HY 22 H47 H e s i, y 9
S AT o, o F x o ghol 2 5 §le A0

@1 @ 2 ® 3 @)4 ® 5

B ~
VI20xy = /23 X3 X 5 X xy = 2+/30xy
xy =30
(x, y) = (1, 30), (2, 15), (3, 10), (5, 6),
(6, 5), (10, 3), (15, 2), (30, 1)




